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If the length between any two consecutive points is 4.5 cm, find the perimeter of the given figure

(i) 72.00cm (ii) 74.00 cm (iii) 71.00cm (iv) 70.00 cm (v) 73.00 cm

If the length between any two consecutive points is 4.1 cm, find the perimeter of the given figure

(i) 47.20cm (ii) 48.20 cm (iii) 50.20cm (iv) 49.20cm (v) 51.20 cm

If the length between any two consecutive points is 4.2 cm, find the perimeter of the following figure

(i) 115.60 cm (ii) 119.60 cm (iii) 116.60cm (iv) 117.60cm (v) 118.60 cm



4. If the length between any two consecutive points is 5.4 cm, find the perimeter of the given figure

(i) 192.40 cm (ii) 195.40 cm (iii) 196.40 cm (iv) 193.40cm (v) 194.40 cm

5. If the length between any two consecutive points is 4.1 cm, find the perimeter of the given figure

(i) 34.80cm (ii) 30.80 cm (iii)) 32.80 cm (iv) 31.80cm (v) 33.80 cm

6. If the length between any two consecutive points is 8.5 cm, find the perimeter of the given figure

(i) 83.00cm (ii) 87.00 cm (iii) 84.00 cm (iv) 86.00 cm (v) 85.00 cm

7. If the length between any two consecutive points is 3.7 cm, find the perimeter of the given figure

(i) 46.40 cm (ii) 44.40 cm (iii) 42.40cm (iv) 45.40cm (v) 43.40 cm



8. If the length between any two consecutive points is 4.9 cm, find the perimeter of the given figure

(i) 70.60 cm (ii) 69.60 cm (iii) 67.60cm (iv) 68.60cm (v) 66.60 cm

9. If the length between any two consecutive points is 8.0 cm, find the perimeter of the given figure

(i) 128.00 cm (ii) 130.00 cm (iii) 126.00 cm (iv) 129.00 cm (v) 127.00 cm

10. If the length between any two consecutive points is 8.5 cm, find the perimeter of the given figure

(i) 151.00 cm (ii) 155.00 cm (iii) 153.00 cm (iv) 154.00 cm (v) 152.00 cm



11. If the length between any two consecutive points is 7.1 cm, find the perimeter of the given figure

(i) 140.00cm (ii) 141.00 cm (iii) 143.00 cm (iv) 142.00cm (v) 144.00 cm

12. If the length between any two consecutive points is 6.5 cm, find the perimeter of the following figure

(i) 67.00cm (ii) 64.00 cm (iii) 63.00cm (iv) 66.00cm (v) 65.00 cm

13. Find the perimeter of the shaded region given below
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(i) 83.00 m (ii) 93.00 m (iii) 91.00 m (iv) 88.00 m (v) 85.00 m



14. Find the perimeter of the shaded region given below

5 m—ze

14 m

e 13m—3

(i) 160.00 m (ii) 135.00 m (iii)) 137.00 m (iv) 152.00 m (v) 168.00 m

15. Find the perimeter of the shaded region given below
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(i) 122.00 m (ii) 107.00 m (iii) 160.00 m (iv) 147.00 m (v) 134.00 m

16. Find the perimeter of the shaded region given below
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(i) 166.00 m (ii) 185.00 m (iii) 160.00 m (iv) 153.00 m (v) 132.00 m




17. Find the perimeter of the shaded region given below

(i) 197.00 m (ii) 180.00 m (iii) 204.00 m (iv) 167.00 m (v) 158.00 m

18. Find the perimeter of the shaded region given below
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(i) 126.00 m (ii) 130.00 m (iii) 105.00 m (iv) 143.00 m (v) 137.00 m

19. Find the perimeter of the shaded region given below
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(i) 149.00 m (ii) 123.00 m (iii) 132.00 m (iv) 136.00 m (v) 148.00 m



20. Find the perimeter of the shaded region given below
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(i) 175.00 m (ii) 182.00 m (iii)) 170.00 m (iv) 200.00 m (v) 188.00 m

21. Find the perimeter of the shaded region given below
& 2m =

(i) 168.00 m (ii) 161.00 m (iii) 195.00 m (iv) 152.00 m (v) 176.00 m
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